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 ءاصحلأا يف ةمدقم :لولأا لصفلا

 اھبیوبتو تانایبلا عمج قرط يف يملعلا بولسلأا مادختسأ ىلع لمعی يذلا ملعلا كلذ وھ :ءاصحلإا ملع

 .ةبسانم تارارقو تاجاتنتسا ىلع اھنم لوصحلا فدھب اھلیلحتو اھضرعو

 

 ءاصحلإا میھافم ضعب 

I. تانایبلا(Data) : نع اھیلع لوصحلا نكمی يتلا ،ةیعوضوملا قئاقحلا نم ةطبارتم ریغ ةلسلس يھ 

  .لیجستلاو ثحبلا قیرط نع وأ ،ةظحلاملا قیرط

 -:نیمسق ىلا تانایبلا مسقت

a( ةبوبملا ریغلا تانایب )ْUngrouped Data ( : بوبت ملو تعمج يتلا ةیلولأا تانایبلا يھ. 

b( ةبوبملا تانایب )Grouped Data ( : يراركت عیزوت لودج يف تمظن يتلا تانایبلا يھ. 

 
 

II. تاریغتملا )Variables(: تایوتسم وأ امیق ذخأت يتلا ةمسلا وأ ةیصاخلا وھ ءاصحلإا ملع يف ریغتملا 
 ."X" زمرلاب ریغتملل زمریو رخآ ىلإ درف نم ةفلتخم

 
 - :نیمسق ىلا تاریغتملا مسقت

a( ةیفصولا تاریغتملا )Categorical Variables(: اھسایق نكمی يتلا تاریغتملا يھو 

 ةلاحلا لثم ةیددعلا ماقرلأاب ةرشابم اھسایق نكمی لا يتلا رھاوظلا كلت يھ وا ةفولأم سایق طئاسوب

 .)ریقف ،ينغ( ةیعامتجلاا

b( ةیمكلا تاریغتملا  (Numerical Variables): نكمی يتلا تافصلا وا رھاوظلا كلت يھ 

 .رمعلاو نزولا ،لوطلا ةفص لثم ةیددعلا ماقرلأاب ةرشابم اھسایق

 

 :نیفنص ىلا ةیمكلا تاریغتملا فینصت نكمی

a( ةرمتسملا تاریغتملا )Continuous Variables(: اھیف تاریغتملا ذخأت يتلا تاریغتملا يھ 

 نیب حوارتت صاخشلأا نم ةعومجم لاوطا نا انضرتفا ول .نیعم ىدم نمض ةیمقر ةمیق يأ

130cm  170 وcm  ، ةغیصب ریغتملا ةباتك عیطتسن اننأف: 

	130 ≤ 𝑋 ≤ 170 
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b( ةعطقتملا تاریغتملا )ةلصفنملا()Discrete Variables(: ةدرفملا ذخأت يتلا تاریغتملا يھ 

 اننأف }٥،٤،٣،٢{ يھ لئاوع ةعبرأ يف ةرسلاا دارفا ددع نا انضرف ول .ةدعابتم امیق اھیف

 :ةغیصب ریغتملا ةباتك عیطتسن

X = 2, 3 , 4, 5 

 

 

III. عمتجملا )Population(:- ریغتملا اھذخأی نا نكمی يتلا تادرفملا وا میقلا عیمج وھ. 

 

 :ناعون ىلع عمتجملا نوكتی

a( تادحولا ددع لاثملا لیبس ىلع .ھتادرفم ددع رصح نكمی يذلا عمتجملا وھ :ددحم عمتجم 
 .نیعم عنصم يف ةجتنملا

b(  ددع لاثملا لیبس ىلع .ھتادرفم ددع رصح نكمی لا يذلا عمتجملا وھ :ددحم ریغ عمتجم 
 .ةرجاھملا رویطلا

 

 

IV. ةنیعلا )Sample(: عمتجملا نم ةنیعم ةقیرطب اھرایتخا متی تادرفملا نم ةعومجم يھ. 

 
  Summation)( عومجملا

 
 ربعی تادرفملا هذھ عومجم نأف X ریغتملا تادرفم لثمت } X1, X2, … , Xn{ تناك اذا
 :زمرلاب اھنع

(𝑋)

*

)+,

= 𝑋, + 𝑋/ +⋯+ 𝑋* 

 
Example: Let 𝐗	 = 	𝟔, 𝟕, 𝟒, 𝟑. Find ∑ 	𝑿	, ∑ 	 𝑿𝟐 and	(∑ 	𝑿)𝟐 

 
-:Solution 

(𝑋 = 6 + 7 + 4 + 3 = 20	 
  

(𝑋/ = 36 + 49 + 16 + 9 = 110	 
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	(( 	𝑋)/ = (20)/ = 400 

 
 

 
  :)Tabular Presentation( يلودجلا ضرعلا
 
 )Frequency Distribution( يراركتلا عیزوتلا لودج
 

 ىلا ریغتملا میق ھیف مسقت لولأا دومعلا يف نیدومع نم نوكتی طیسب لودج وھ :طیسبلا لودجلا .1
 تاراركتلا ىمسی ةئف لك تادرفم ددع ھیف نیبی يناثلا دومعلاو ) Classes( تائفلا ىعدت تاعومجم

)Frequencies(  ىلعلأا دحلا امھ نادح ةئف لكلو  (Maximum Value)دحلا و 

  .(Minimum Value)ىندلأا

 

 .مھنازوا بسح ام ةعماج يف ةبلطلا نم ددع عیزوت لثمی يلاتلا لودجلا :لاثم

 
Frequencies (Fi) Classes 

85 60-62 

15 63-65 

45 66-68 

27 69-71 

8 72-74 

180 summation 

 
 - :جودزملا لودجلا  .2

 
 لودجلا "لاثمف .تقولا سفن يف رثكأ وا نیترھاظ وا نیتفص بسح تانایبلا ھیف عزوت يذلا لودجلا وھو

 تائف لثمت يتلا ةدمعلااو نیتفصلا ىدحا عیماجم وا تائف لثمت يتلا فوفصلا نم فلآتی )نیتفصل( جودزملا

 وا تادرفملا ددع ىلع يوتحت ةدمعلااو فوفصلا لباقت يتلا تاعبرملا اما ىرخلأا ةفصلا عیماجم وا

 .نیتفصلا لاك عیماجمو تائف يف ةكرتشملا تاراركتلا
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 .نزولاو لوطلا يتفص بسح ام ةیلك ةبلط نم ددع عیزوت لثمی يتلاا لودجلا :لاثم
 

Summation 71-80 61-70 51-60 Length \ weight 

30 4 6 20 121-140 

52 10 40 2 141-160 

18 10 6 2 161-180 

100 24 52 24 Summation 

 
 

 
 ىلعلأا نیدحلا نیب قرفلا نع ةرابع يھو .ةئفلا يدح نیب ىدملا رادقم وھ :)Class Length( ةئفلا لوط

 .نیتیلاتتملا نیتئفلل )ىندلأا نیدحلا وا(

Class Length = Maximum value– Minimum value  

 

  .ةئفلا يدح نیب ىدملا فصتنم نع ةرابع وھو :) Point -Class Mid( ةئفلا زكرم

Class -Mid-point = (Maximum value + Minimum value) / 2  

 
 .ةئف لكل ةبسنلا ةیمھلأا يھ و : ) Frequency) Relativeيبسنلا راركتلا

ةئفلا =  ةئف يلأ يبسنلا راركتلا 	 راركت 	
تاراركتلا 	 عومجم

 

𝐑𝐞𝐥𝐚𝐭𝐢𝐯𝐞	𝐅𝐫𝐞𝐪𝐮𝐞𝐧𝐜𝐲 =
𝐅𝐢
∑𝐅𝐢

 

 
 100 * )يبسنلا راركتلا( = يوئملا راركتلا :ةظحلام

 

Percentage Frequency = Relative Frequency *100 

 

 :)Histogram( يراركتلا جردملا

 لثمت اھتاعافترا امنیب تائفلا لوطأ لثمتل يقفلاا روحملا ىلع اھدعاوق دتمت ةیسار تلایطتسم نع ةرابع

 - :ةیتلاا تاوطخلا عبتت يراركت جردم مسرلو تائفلا تاراركت
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a(  يدومعلا روحملاو يقفلاا روحملا مسرن 

b(  ةیقیقحلا دودحلا عیمج لمشی ثیحب بسانم مسر سایقمب ةیواستم ماسقا ىلا يقفلاا روحملا مسقن 
 .تاراركتلا ربكأ لمشت ثیحب ةیواستم ماسقأ ىلا يدومعلا روحملا مسقن امنیب تائفلل

c(  ةئفلا كلت راركت لثمی ھعافتراو ةئفلا كلت لوط ھتدعاق لثمت يسار لیطتسم ةئف لك ىلع مسرن. 

 
 
 )Polygon uencyFreq( يراركتلا علضملا

 
 راركت لثمی عافترا ىلع ةئف زكرم قوف ةعقاو ةطقن لك .طاقنلا نیب لصت ةرسكتم ةمیقتسم طوطخ نع ةرابع

 .ةئفلا كلت

 

 تلایطتسملل ایلعلا دعاوقلا فنصت مث لاوأ يراركتلا جردملا مسر بجی يراركتلا علضملا مسرل :ةظحلام

 .تامیقتسمب طاقنلا هذھ لصن مث طاقنب تائفلا زكارم لثمت يتلاو

 
 :)Carve quencyFre( يراركتلا ينحنملا

 يراركتلا علضملا نع (Frequency Carve) يراركتلا ينحنملا مسر ةركف فلتخت لا

 )Frequency Polygon ( طاقنلا لیصوت نم لادب ھنا وھ امھنیب ام دیحولا قرفلا نكل بولسلأا ثیح نم 

 .طاقنلا نیب ينحنم ریرمت متی ھناف تامیقتسمب )راركتلا ،ةئفلا زكرم(

 
 :يعیمجتلا يراركتلا عیزوتلا لودجل ينایبلا لیثمتلا

 عافترا ىلعاو تائفلل ةیقیقحلا دودحلا قوف ةعقاو طاقن نیب لصت ةرسكتم ةمیقتسم طوطخ نع ةرابع وھو

 :يعیمجتلا يراركتلا علضملا نم ناعون كلانھو يعیمجتلا راركتلا لثمی

 

 :يدعاصتلا يعیمجتلا يراركتلا علضملا  -1

 :ةیتلاا تاوطخلا عبتن يدعاصتلا يعیمجتلا يراركتلا علضملا مسرل

a( يدومعلا روحملاو يقفلاا روحملا مسرن 

b( ةیقیقحلا دودحلا عیمج لمشی ثیحب بسانم مسر سایقمب ةیواستم ماسقا ىلا يقفلاا روحملا مسقن 
 ةیعمجتلا تاراركتلا ربكأ لمشت ثیحب ةیواستم ماسقأ ىلا يدومعلا روحملا مسقن امنیب تائفلل

 .ةیدعاصتلا
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c( طاقنلا لصن مث ددحن )ةمیقتسم طوطخب )يدعاصتلا يعیمجتلا راركتلا ،ةئفلا زكرم. 

 

 :يلزانتلا يعیمجتلا يراركتلا علضملا -2
 ىلعا نم أدبی علضملا اذھ نا ریغ ةقباسلا ةقیرطلا سفنب يلزانتلا يعیمجتلا يراركتلا علضملا مسریو

 .ةمیق لقأب يھتنیو )تاراركتلا عومجم( ةمیق

Example: The following table represents the number of 100 students at the 

Mathematics department with their weight: 

Frequencies Classes 

5 60-62 

18 63-65 

42 66-68 

27 69-71 

8 72-74 

 عومجملا 100

 
Find:  

1. Class length 

2. Class Mid-point. 

3. Class boundary. 

4. Draw the Histogram and Frequencies Polygon. 

5. Draw the increasing cumulative Frequencies Polygon. 

6. Draw the decreasing cumulative Frequencies Polygon. 
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Solution: 
 
Classes Frequencies Relative 

Frequencies 
Percentage 
Frequencies 

Increasing 
cumulative 
Frequencies 

Decreasing 
cumulative 
Frequencies 

60-62 5 0.05 5 5 100 

63-65 18 0.18 18 23 95 

66-68 42 0.42 42 65 77 

69-71 27 0.27 27 92 35 

72-74 8 0.08 8 100 8 

عومجملا       
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Problem Set (1): 
 
Q1) In the following table, the classes represent the grads and the frequencies 
represent the number of students in statistics class. 
 

Classes 1-20 21-40 41-60 61-80 81-100 
Frequencies 3 8 15 9 2 

 
Find:  

1. Class length 

2. Class Mid-point. 

3. Class boundary. 

4. Draw the Histogram and Frequencies Polygon. 

5. Draw the increasing cumulative Frequencies Polygon. 

6. Draw the decreasing cumulative Frequencies Polygon. 

 

Q2) Choose five students from your classmates to create a data set that has three 
numerical variables (2 continuous variables and 1 discrete variable), and two 
categorical variables. 
 
Q3) The following table represents the number of people who died in the last 10 
years in a small city. 
 

Classes: Ages 30-40 41-50 51-60 61-70 71-80 81-90 
Frequencies 4 8 13 20 39 32 

 
Find:  

1. Draw the Histogram and Frequencies Polygon. 

2. Draw the increasing cumulative Frequencies Polygon. 

3. Draw the decreasing cumulative Frequencies Polygon. 
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 تانایبلا صخلم :يناثلا لصفلا

 :ةیزكرملا ةعزنلا سییاقم
 

 .اھددع ىلع میقلا عومجم ةمسق نم ةجتانلا ةمیقلا يھو : (Mean) يباسحلا طسولا )１
 

 اھل يباسحلا طسولا نأف )X1, X2, … , Xn( میقلا نم  n  انیدل ناك اذا :ةبوبملا ریغلا تانایبلا )أ

  :وھ

𝐌𝐞𝐚𝐧 = 𝐗O =	
∑𝐗𝐢
𝐧

 

 يف تائفلا زكارم لثمت يتلا )X1, X2, … , Xn( میقلا نم n انیدل ناك اذا :ةبوبملا تانایبلا )ب

 اھل يباسحلا طسولا نأف يلاوتلا ىلع )F1, F2, … , Fn( اھتاراركت عم يراركتلا عیزوتلا لودج

  :وھ

𝐌𝐞𝐚𝐧 = 𝐗O = 	
∑𝐅𝐢𝐗𝐢
∑ 𝐅𝐢

 

  
Example: Find the mean for the following data? 
 

Classes Fi Xi Fi*Xi 
31 - 40 1 35.5 35.5 
41 - 50 2 45.5 91.0 
51 - 60 5 55.5 277.5 
61 - 70 15 65.5 982.5 
71 - 80 25 75.5 1887.5 
81 - 90 20 85.5 1710.5 
91 - 100 12 95.5 1146.5 

  
Solution: - 

 

Mean = XO =	
∑ FVXV
∑ FV

=
6130
80

= 76.62 
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 ، ),Xn X2,…, X1( میقلا نم n  انیدل ناك اذا ةبوبملا ریغلا تانایبلا يف :)(Median طیسولا )２

 "ایلزانت وا "ایدعاصت "ابیترت میقلا بترن

i. ناك اذإ n  وھ اھعقوم يتلا ةمیقلا وھ طیسولا ناف "ایدرف "اددع (*Y,)
/

. 

ii. ناك اذا  nوھ امھعقوم يتلا ناتمیقلا طسوتم وھ طیسولا ناف "ایجوز "اددع  *
/

*+1 و 
/

. 

Example1 : Find the median for the following data points? 

80, 82,76,87,84 

Solution: -  
 :ایدعاصت "ابیترت میقلا بترن

76, 80, 82,84,87 

"ایدیرف "اددع  n=5 ,   اھعقوم يتلا ةمیقلا وھ طیسولا نأف    
(*Y,)
/

 =(ZY,)
/

= 3  

𝑆𝑜, 𝑀𝑒𝑑𝑖𝑎𝑛 = 	82 

Example 2 : Find the median for the following data points? 

5, 4, 8, 7, 3, 12, 9, 2 

Solution: -  

 :ایدعاصت "ابیترت میقلا بترن

2, 3, 4, 5, 7, 8, 9, 12 

 n = 8 و  وھ امھعقوم يتلا ناتمیقلا طسوتم وھ طیسولا ناف ،"ایجوز "اددع وھو*
/

*+1 و 
/

 

 1+*
/
 = 1+c

/
= 5 ,	*

/
= 	 c

/
= 4 

𝑆𝑜, 𝑀𝑒𝑑𝑖𝑎𝑛 = 	
5 + 7
2

= 6 

  : (Mode) لاونملا )３

 يھ لاونملا نأف ،)X1,X2,…,Xn( میقلا نم  n انیدل ناك اذا ةبوبملا ریغلا تانایبلا يف

 ."اراركت رثكلأا ةمیقلا

Example: Find the mode for the following data points? 

5, 4, 8, 7, 3, 12, 9, 3, 4, 3 

Solution: - Mode = 3 
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 :فلاتخلاا وا تتشتلا سییاقم

 میق تتشت ىدم سایقم يھ اضیأو ،ام ریغتمل تادھاشملا میق نیب دوجوملا براقتلا وا دعابتلا ھب دصقنو

 .حیحص سكعلاو میقلا نیب سناجتلا مدع ىلع كلذ لد ریبك تتشتلا ناك املكف اھطسو نع تادھاشملا
 

i. ىدملا (Range): لقاو ةمیق ىلعا نیب قرفلا وھ ماقرلأا نم ةعومجمل ىدملا ةبوبم ریغلا تانایبلا يف 

 .ةعومجملا كلت نم ةمیق

Example: Find the Range for the following data points? 

9, 4, 7, 8, 16, 10, 20, 2 

Solution: - Range = 20 – 2 = 18 

 
ii. يرایعملا فارحنلاا (Standard Deviation): فارحنلاا داجیا نكمی ةبوبم ریغلا تانایبلا يف 

 :يلاتلا نوناقلا مادختساب يرایعملا

												𝐒𝐭𝐚𝐧𝐝𝐚𝐫𝐝	𝐃𝐞𝐯𝐢𝐚𝐭𝐢𝐨𝐧 = 𝐬. 𝐝. = 	
∑|𝐗𝐢 − 𝐗O|

𝐧
 

 
iii. نیابتلا: (Variance) وھو ،ةعقوتملا میقلا لوح ةنكمملا میقلل يئاصحلاا تیتشتلل سایقم وھ 

 .يرایعملا فارحنلاا عیبرتل يواسم
 

𝐕𝐚𝐫𝐢𝐚𝐧𝐜𝐞 = (𝐒𝐭𝐚𝐧𝐝𝐚𝐫𝐝	𝐃𝐞𝐯𝐢𝐚𝐭𝐢𝐨𝐧)	𝟐 
 

Example: Find the standard deviation and the variance for the 

following data points? 

9, 8, 6, 5, 7 

Solution: - First we find the Mean 	

𝑀𝑒𝑎𝑛 = 𝑋m = 	
∑𝑋)
𝑛

= 	
9 + 8 + 6 + 5 + 7

5
= 7 

Then, 	

Standard	Deviation = s. d.= 	
∑|𝑋𝑖 − 𝑋m|

𝑛
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|Xi - 𝑿O| Xi - 𝑿O Xi 
2 2 9 
1 1 8 
1 -1 6 
2 -2 5 
0 0 7 

 

Hence, Standard Deviation = s. d. = 	 ∑|wVxw
O|

y
= /Y,Y,Y/Yz

Z
= 	 {

Z
 

 

Variance = Var = (
6
5
)/ =

36
25

 
 

 
 

 :)Coefficient of Variation( فلاتخلاا لماعم
 
 نوناقلا مادختساب فلاتخلاا لماعم فرعیو ،يراركتلا عیزوتلا وا لامتحلاا عیزوت رثعبت وأ تتشتل سایقم وھ 
 :يلاتلا

𝐶𝑜𝑒𝑓𝑓𝑖𝑐𝑖𝑒𝑛𝑡	𝑜𝑓	𝑉𝑎𝑟𝑖𝑎𝑡𝑖𝑜𝑛 = 	𝐶. 𝑉. = 	
𝑠. 𝑑.
𝑋m

∗ 100 
 

Example:  In Math and Stat final exams, we found that for Math exam  

( 𝑋m = 78	𝑎𝑛𝑑	𝑠. 𝑑. = 8), and for Stat exam ( 𝑋m = 73	𝑎𝑛𝑑	𝑠. 𝑑.= 7.6), in which 

subject the variation (C.V.) is greater? 

Solution: - 

For Math exam:  𝐶. 𝑉. = 	 �.�.
�m
∗ 100 = c

�c
∗ 100 = 10.25% 

 
For Stat exam:  𝐶. 𝑉. = 	 �.�.

�m
∗ 100 = �.{

��
∗ 100 = 10.41% 

 
From above, we can see that the variation for Stat exam is greater. 
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 :)Score-Z( ةیسایقلا ةجردلا

 لیوحت بجی ةلاحلا هذھ يفو نیتفلتخم نیتعومجم نم نیتدرفم نیب ةنراقملا ىلا جاتحن نایحلأا نم ریثكلا يف

 يباسحلا طسولا مادختساب اذھ نوكیو ،ىنعم تاذ ةنراقملا نوكت ىتح ةیسایق تادحو ىلا ةدرفم لك تادحو

 :نا ثیح (Zi) زمرلاب   اھل زمریو سایقلا ةجردب ةمیقلا هذھ ىمستو ةعومجم لكل يرایعملا فارحنلااو

𝐙𝐢 = 	
𝐗𝐢 −	𝐗O
𝐬. 𝐝.

 

 
Example:  In a classroom, a student got 84 in Mathematic exam where the mean 

for all students was 76 with s.d. = 10, and the same student got 90 in Biology exam 

where the mean for all the students was 82 with s.d. = 16. In which subject , did the 

student perform better? 

-Solution:  

For Math exam: 
 

𝑍𝑖 = 	
𝑋𝑖 −	𝑋m
𝑠. 𝑑.

= 	
84 − 	76
10

= 0.8 

For Bio exam: 
 

𝑍𝑖 = 	
𝑋𝑖 −	𝑋m
𝑠. 𝑑.

= 	
90 − 	82
16

= 0.5 

 
The student performs better in Math exam (because Z-score is higher) even though 
his grade in Bio exam is greater.  
 
 
Definition: The range of a data set is the difference between the maximum value 
and the minimum value of the data set. 
 
Definitions: Q1 is the first quartile of the data, Q2 (Median) is the second quartile 
of the data, Q3 is the third quartile of the data. 
 
Definition: Inter Quartile Range (IQR) represents the middle 50% of the data. 

(i.e., IQR = Q3 – Q1) 
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Five-Number Summary: 
 
The Five-Number summary for any data set are:  
 

Minimum value, Q1, Q2 (Median), Q3, Maximum value. 
 
Example: Find the five-Number summary for the following data set then compute 

the IQR? 

11, 74, 52, 99, 21, 38, 14, 26, 35, 56, 83, 91 

Solution: - First we arrange the data points in increasing order 

11, 14, 21, 26, 35, 52, 56, 74, 83, 92, 99 

Minimum Value = 11 

Q1 = 21 

Q2 = 52 

Q3 = 83 

Maximum Value = 99 

The Five-Number summary are: 11, 21, 52, 83, 99 

IQR = Q3 – Q1 = 83 -21 = 62 
 
 
Maximum and Minimum Usual Values: 
 
Minimum Usual Value = Mean - 2 * s.d. 

Maximum Usual Value = Mean + 2 * s.d. 

 

Example: Find the Maximum and Minimum usual values for a data set if you 

know the mean = 16 and the standard deviation = 3  ? 

Solution: - 

Minimum Usual Value = Mean - 2 * s.d. = 16 – 2*3 =  10 

Maximum Usual Value = Mean + 2 * s.d. = 16 + 2*3 = 22 
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Empirical Rule:  

68 % of the data points with 1 s.d. 

95 % of the data points with 2 s.d. 

99.7 % of the data points with 3 s.d. 

 
 

 
Definition: A value that lies between (Mean – 2*s.d.) and (Mean + 2*s.d.) is 
called a usual value, and any value lies outside this range is called unusual value. 
 
 
Example: The mean of H2O bill for a house is $40 with s.d. of $4.34. 

a) Find the maximum and minimum usual values? 

b) Is an H2O bill of $62 usual? 

Solution (a): 

Minimum Usual Value = Mean - 2 * s.d. = $40 – 2*4.36 = $48.72 

Maximum Usual Value = Mean + 2 * s.d. = $40 + 2*4.36 = $31.28 

Solution (b): H2O bill of $62 is Unusual (Not usual) because it lies outside the 

usual range 

 
Data Visualization: 
 

1. Bar Chart: A bar chart is a chart that presents categorical 
data with rectangular bars with heights proportional to the values that they 
represent. 

 
Example: In a box, there are 100 balls such that: 

 
 
 
 
 

Color Frequency 

Blue 30 

 Orange 50 

Gray 20 
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2. Pie Chart: A pie chart (or a circle chart) is a circular statistical graphic, 
which is divided into slices to illustrate numerical proportion. 

 
Example: In a box, there are 100 balls such that: 

 
 
 
 
 
 
 

3. Box plot: In descriptive statistics, a box plot or boxplot is a method for 
graphically depicting groups of numerical data through their quartiles. 

 
Example: Create a box plot for the following. data points: 

{13,15,1,4,7,5,5,9,13,21,15} 
Solution: 
First, we arrange the data points in increasing order: 

1, 4, 5, 5, 7, 9, 12, 13, 13, 15, 21 

Minimum Value = 1 
Q1 = 5 
Q2 = Median = 9 
Q3 = 13 
Maximum Value = 21 
 
 

 
 
 
 
 
 
 
 
 
 

Color Frequency 

Blue 30 

 Orange 50 

Gray 20 
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Problem set (2) 
 

1. Find the mean, median, mode, and midrange for the following data set 
(student’s grads in Statistics class):  

{70, 82, 61, 100, 32, 49, 0, 88, 93, 76} 
 

2. Find the standard deviation and variance for the following data sets:  
a) D1 = {3, 7, 16, 2} 
b) D2 = {77, 83, 91, 75, 85, 69} 

 
3. For the following data set: {5, 2, 3, 7, 10, 5, 3, 8, 15, 12, 12, 8} 

a) Find the five-Number summary then compute the IQR? 
b) Draw a box plot that related to the data points. 

 
4. Find the Maximum and Minimum usual values for a data set: 

{8, 14, 12, 6, 10, 16, 4} 

 

5. The mean of statistics final exam is 70 with standard deviation of 6. 

a) Find the maximum and minimum usual values? 

b) If three students got (81, 85, 61), are these grades considered to be usual 

or unusual values? 

 

6. At a University, 100 students have been selected and asked  

“what is your favorite season?”.  The data has been summarized in the 

following table. Create a par chart and pie chart for the data set. 

Season Winter Spring Summer Fall 

Number of 
students 

30 40 10 20 
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 لامتحلاا ةیرظن ىدابم :ثلاثلا لصفلا

 :ةیساسا میھافم

 

 ةجیتن اھجئاتن ةفرعم نكمی لا يتلا ةبرجتلا يھو : andom Experiment(R (ةیئاوشعلا ةبرجتلا
 .لامتحلاا نیناوقل اھعوضخل

 
 ةعومجم ىلع يوتحی قودنص نم ةرك رایتخا ،بعللا ةقرو نم ةقرو بحس ،دوقنلا نم ةعطق يمر :لاثم
 .ةفلتخم ناولأ تاذ تارك
 
 ةفدصلا قیرط نع ددحت ةنیعم ةبرجتل ةنكمملا جئاتنلا لك ةعومجم يھو :  (Sample Space)ةنیعلا ءاضف
 .}S{ زمرلاب اھل زمریو
 
 .وھ ةنیعلا ءاضف نأف ةدحاو ةرم دوقنلا نم ةعطق يمر دنع :1 لاثم

S = {H, T}, where H represents the Head and T represents the Tail. 
 

 .وھ ةنیعلا ءاضف نأف ةدحاو ةرم دوقنلا نم نیتعطق يمر دنع :2 لاثم
S = {HH, HT, TH, TT} 

 
 زمرلاب اھل زمریو ةنیعلا ءاضف نم ةیئزج ةعومجم يھو :  (Event)ةثداحلا

}A, B, C, E, E1, E2, ...{ 
 
 S = {H, T} :وھ ةنیعلا ءاضف نأف ةدحاو ةرم دوقنلا نم ةعطق يمر دنع :لاثم

E1 = {H}, E2 = {T}, and E3 = {H, T} are events. 

 
 :)Joint and Disjoint Events( ىلا ثداوحلا نیفنصت نكمی
 

 اذإ ناتیفانتم ناتثداح E2و E1 نیتثداحلا نع لاقی :)Disjoint Events( ةیفانتملا ثداوحلا .１

 ."اعم امھثودح لاحتسا

 .دحاو تقو يف Tو H ىلع لوصحلا لیحتسملا نم ھنأف ةدحاو ةرم دوقنلا نم ةعطق يمر دنع :لاثم

 

 ناتیفانتم ریغ ناتثداح E2و E1 نیتثداحلا نع لاقی :)Joint Events( ةیفانتم ریغلا ثداوحلا .２

 ."اعم امھثودح نكمأ اذإ

 .ناتیفانتم ریغ ناتثداح امھ فظومو يعماج بلاط نوكی نا ناتثداحلا نأف ام صخش رایتخا :لاثم
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 :)Dependent and Independent Events( ىلا ثداوحلا نیفنصت نكمی
 

 عوقو يف رثؤی لا امھدحأ عقو يتلا ثداوحلا يھ :)Independent Events( ةلقتسملا ثداوحلا  .１

 .رخلاا

  .ةیناثلا ةعطقلا ةجیتن ىلع رثؤت لا ىلولأا ةعطقلا ةجیتن نأف ةدحاو ةرم دوقنلا نم نیتعطق يمر دنع :لاثم

 عوقو ىلع رثؤی امھدحأ عوقو يتلا ثداوحلا يھ :)Dependent Events( ةلقتسم ریغلا ثداوحلا  .２

 .ىرخلأا ثداوحلا

 نأف ،عاجرا نودب يلاوتلا ىلع ناترك بحس دنعف ،ءادوسو ءاضیب تارك ىلع يوتحی قودنص :لاثم

 ةلقتسم ریغ )ناتثداحلا( ناتبحسلا نا لوقن ىرخأ ةرابعب .ىلولأا ةبحسلا ةجیتنب رثأتت ةیناثلا ةركلا بحس

 .ةدمتعم وا

 
 
 :ةیباسحلا تایلمعلا ضعب
 
 :يلی امك فرعیو ) !n ( زمرلاب ھل زمریو n بورضم : )Factorial( بورضملا
 

n ! = n*(n-1)*(n-2) *… *2*1 
 

 !and  n! = n(n-1)   1 = !0 :ةظحلام
 
 :!3 ,!5 ,!7  ةمیق دج :لاثم

3! = 3*2*1 = 6 
5! = 5*4*3*2*1 = 120 
7! = 7*6*5*4*3*2*1 = 5040 

 
 :يتلااك فرعیو )	𝐏𝐫𝐧( زمرلاب لیدابتلل زمری :)Permutation( لیدابتلا

𝐏𝐫𝐧	 = 	
𝐧!

(𝐧 − 𝐫)!
 

 : 	𝐏𝟔𝟕	،	𝐏𝟏𝟓	،	𝐏𝟐𝟑ةمیق دج :لاثم

P/�	 = 	
3!

(3 − 2)!
= 	
6
1
= 6 

P,Z	 = 	
5!

(5 − 1)!
= 	
5.4!
4!

= 5 

P{�	 = 	
7!

(7 − 6)!
= 	
7!
1!
= 7! 
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 :يتلااك فرعیو )	𝐂𝐫𝐧( زمرلاب قیفاوتلل زمری :)mbinationCo( قیفاوتلا

𝐂𝐫𝐧	 = 	
𝐧!

𝒓! (𝐧 − 𝐫)!
 

 : 	𝐂𝟗𝟗𝟏𝟎𝟎	،	𝐂𝟑𝟔	،	𝐂𝟐𝟒ةمیق دج :لاثم

C/�	 = 	
4!

2! (4 − 2)!
= 	
4.3.2!
2! 2!

= 6 

C�{	 = 	
6!

3! (6 − 3)!
= 	

6!
3! 3!

=
6.5.4.3!
3! 3!

= 20 

C��,zz	 = 	
100!

99! (100 − 99)!
= 	
100.99!
99! .1!

= 100 

 
 
 :) RulesCounting( دعلا نیناوق

 
 ةنكمملا قرطلا ددع و (n)وھ 1E  ةثداحلا عوقول ةنكمملا قرطلا ددع ناك اذا :ةیساسلأا قرطلا .1

 عوقول ةنكمملا قرطلا ددع نأف ناتلقتسم ناتثداح  E2 و E1 تناكو  (m)وھ  E2 ةثداحلا عوقول
E1 وا E1 وھ m)*(n تارملا نم. 

 
 ؟فلتخم يز رایتخا صخشلل نكمی ةقیرط مكف ،نولطنب ةتسو ناصمق ةعبرأ صخشل ناك اذإ :لاثم

 n = 6, m= 4 :لحلا
 m*n= 4*6=24 = قرطلا ددع

 
 

 يف رصانعلا نم n نم ةذوخأم رصانعلا نم r بیترت وھ :)Rule ermutationP( لیدابتلا ةقیرط .2

 :يتلااك فرعیو )	𝐏𝐫𝐧( زمرلا ب ھل زمریو )مھم بیترتلا( نیعم لكش

𝐏𝐫𝐧	 = 	
𝐧!

(𝐧 − 𝐫)!
 

where	𝐧	is	the	total	number	and	𝐫	is	the	number	that	we	want	to	select 

 

 نوكتی مقر نیوكت نكمی ةقیرط مكبف }1,2,3,4,5,6{ ماقرا ةتس نم ةنوكتم ةعومجم انیدل ناك اذإ :1  لاثم

 ؟بتارم ثلاث نم

 مھم بیترتلا ،n = 6, r= 3 :لحلا

𝑃¡*	 = 	𝑃�{	 =
6!

(6 − 3)!
= 	
6!
3!
= 	
6.5.4.3!
3!

= 120	 
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 ددع نا ملع اذا )رسلا نیماو بئانلا ،سیئرلا( بصانم ثلاث نم نوكتت ةنجل نیوكت نكمی ةقیرط مكب : 2 لاثم

 ؟صاخشا ةرشع مھ تاباختنلااب نیكراشملا

 مھم بیترتلا ،n = 10, r= 3 :لحلا

𝑃¡*	 = 	𝑃�,z	 =
10!

(10 − 3)!
= 	
10!
7!

= 	
10.9.8.7!

7!
= 720 

 

 

 نم   n نم رصانعلا نم  r رایتخا قرط ددع وھ :)Combination Rule( قیفاوتلا ةقیرط .3

 :يتلااك فرعیو )	𝐂𝐫𝐧( زمرلاب اھل زمریو ،)مھم ریغ بیترتلا( بیترت نودب رصانعلا

𝐂𝐫𝐧	 = 	
𝐧!

𝐫! (𝐧 − 𝐫)!
		 

where	𝐧	is	the	total	number	and	𝐫	is	the	number	that	we	want	to	select 

 

 ؟بلاط نورشع ىلع يوتحی فص يف بلاط ةعبرأ نم ةنجل نیوكت نكمی قیرط مكب :1 لاثم

 مھم ریغ بیترتلا ،n = 20, r= 4 :لحلا

𝐶¡*	 = 	𝐶�/z	 =
20!

4! (20 − 4)!
= 	

20!
4! 16!

= 	
20.19.18.17.16!
4.3.2.1 ∗ 16!

=	 

 
 ؟راق يذ ةملك فورح نیب نم فورح ةثلاث نم نوكتت ةملك نیوكت نكمی ةقیرط مكب :2لاثم

 مھم بیترتلا ،n = 5, r= 3 :لحلا

𝐶¡*	 = 	𝐶�Z	 =
5!

3! (5 − 3)!
= 	

5!
3! 2!

= 	
5.4.3.2.1
3.2.1 ∗ 2.1

= 	10 
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 اھرقتسمو )ثداوحلا( ةنیعلا ءاضف نم ةیئزج ةعومجم اھقطنم ةلاد يھ :)Probability( ةیلامتحلاا

 .ةیقیقحلا دادعلاا نم ةیئزج ةعومجم

𝐏(𝐄) = 	
𝐍𝐮𝐦𝐛𝐞𝐫	𝐨𝐟	𝐰𝐚𝐲𝐬	𝐀	𝐜𝐚𝐧	𝐨𝐜𝐜𝐮𝐫𝐞

𝐍𝐮𝐦𝐛𝐞𝐫	𝐨𝐟	𝐝𝐢𝐟𝐟𝐞𝐫𝐞𝐧𝐭	𝐬𝐢𝐦𝐩𝐥𝐞	𝐞𝐯𝐞𝐧𝐭𝐬
 

𝐢. 𝐞. ,												𝐏(𝐄) =
𝐏𝐚𝐫𝐭

𝐓𝐨𝐭𝐚𝐥	𝐧𝐮𝐦𝐛𝐞𝐫
 

 
 
Remarks:  
 

1. 0 ≤ P(E) ≤ 1		 

2. If P(E ) = 1, then E is a certain event. 

3. If P(E ) = 0, then E is impossible event. 

						 

 

  :نا ثیح .¬E زمرلاب  E ةثداحلا )ةممتم( ةلمكمل زمری :ةظحلام

P(E¬) = 1 − P(E)	Þ	P(E¬) + P(E) = 1 

 
 

 ؟ناتروص دوجو ةیلامتحا دج ،تارم ثلاث دوقن ةعطق يمر مت :لاثم

 :وھ ةنیعلا ءاضف :لحلا

 S = {HHH, HHT, HTH, THH, HTT, THT, TTH, TTT} 

Event = E = {HHT, HTH, THH} 

P(E) = 	
Part
Total

= 	
3
8

 

 

Example: A box has 3 white balls, 5 black balls, and 2 red balls. If someone select 

a ball randomly, what is the probability that the ball is (red, not black, not red). 
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Solution:  

Total number = 3 + 5+ 2 = 10 balls 

E1 = black ball  à P(E1) = P(black) = Z
,z
= 	 ,

/
 

E2 = red ball à P(E2) = P(red) =   /
,z
= 	 ,

Z
 

E3 = white ball à P(E3) = P(white) = �
,z

 

Hence,  

P(black) = Z
,z
= 	 ,

/
 

 P(not black) =1- P(	black) = 1 −	,
/
= ,

/
 

 P(not white) =1- P(	white) = 1 −	 �
,z
= �

,z
 

 

Note: P(black) + P(red) + P(white) = 𝟓
𝟏𝟎
+	 𝟐

𝟏𝟎
+ 𝟑

𝟏𝟎
= 𝟏 

 

 

Example: A box has 6 white balls, 4 black balls, and 5 red balls. If someone 

randomly select a ball, what is the probability that the ball is (white, not white). 

Solution:  

Total number = 6 + 4 + 5 = 15 balls 

P(white) = �
,Z

 

P(not white) =1- P(	white) = 1 −	 {
,Z
= �

,Z
 

 

Note: P(white) + 𝐏(	𝐧𝐨𝐭	𝐰𝐡𝐢𝐭𝐞) = 𝟏 
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 :)bilityLaw of Proba( ةیلامتحلاا نیناوق

  :)Adding Rule( عمجلا نوناق .１

i. تناك اذأ يأ ،ةیفانتم ثداوحلا تناك اذا E1  و E2 امھنم يأ ثودح لامتحا ناف ناتیفانتم ناتثداح  

) E1 وا E2( يأ امھنم لك لامتحا عمج لصاح وھ: 

 

P(E1 OR E2 ) = P(E1 ∪	E2 ) = P(E1) + P(E2) 

 

Example: A box has 6 white balls, 3 black balls, and 5 blue balls. If someone 

select a ball randomly, what is the probability that the ball is white or black? 

Solution:  

Total number = 6 + 3 + 5 = 14 balls 

P(white or black) = P(white) + P(black) = 6/14 +3/14 = 9/14 

 
ii. تناك اذا يا ،ةیفانتم ریغ ثداوحلا تناك اذا E1  و E2 ثودح لامتحا ناف ناتیفانتم ریغ ناتثداح 

 "اعم امھثودح لامتحا ھنم "احورطم امھنم لك لامتحا عمج لصاح وھ )E2 وا E1 ( امھنم يأ

 :يأ

P(E1 OR E2 ) = P(E1 ∪	E2 ) = P(E1) + P(E2)  - P(E1∩E2) 

 

Example: In a class, 25% of the students pass exam1,15% of the students pass 

exam2, and 10% of the students pass both exam1 and exam2. If someone randomly 

select a student, what is the probability that the student pass exam1 or exam2? 

Solution:  

P(student pass exam1 or exam2) = P(student pass exam1) + P(student pass exam2) 

– p(student pass exam both exam1 and exam2)                                                           

àP(student pass exam1 and exam2) = 0.25 + 0.15 - 0.10 = 0.30 
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 )Multiplication Rule( برضلا نوناق .2

a( تناك اذا يا ،ةلقتسم ثداوحلا تناك اذا E1  و E2 اعم امھثودح لامتحا ناف ناتلقتسم ناتثداح" 

 :يا امھنم لك برض لصاح وھ

P(E1 ∩ E2 ) = P(E1) * P(E2) 

Example: A box has 6 white balls, 3 black balls, and 5 blue balls. If someone 

select a ball randomly, what is the probability that the ball is white and black? 

Solution:  

Total number = 6 + 3 + 5 = 14 balls 

P(white and black) = P(white) * P(black) = 6/14 *3/14 = 18/196 

 
b( تناك اذا يا ،ةلقتسم ریغ ثداوحلا تناك اذا E1  و E2 لامتحا ناف ناتلقتسم ریغ ناتثداح 

 :وھ "اعم امھثودح

P(E1 ∩ E2 ) = P(E1) * P(E/E1) 

 

 

 )Conditional Probability( يطرشلا لامتحلاا

 ىلع دمتعی  E2 نا ثیحب  E2 ةثداحلا عوقو لامتحا داجیإ بولطملاو "لاعف تعقو دق  E1 ةثداحلا ناك اذا
E1  وھ يطرشلا لامتحلاا نأف: 

P(E2/E1 ) = 𝐏(𝐄𝟏	∩	𝐄𝟐)
𝐏(𝐄𝟏)

 , where P(E1) > 0 

 
 

Example: In a small city, someone wants to select a person from 900 people 

where these people ( Boy & Girl) and (Job & No job). Find the probability for the 

following: 

1. P(E) 
2. P(B) 
3. P(G and V) 
4. P(B or E) 

5. P(B/V) 
6. P(G/E) 
7. P(E/G) 
8. P(V/B) 
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 Job or No job 

Gender Job: E No job: V 

Boy : B 460 40 

Girl : G 140 260 

 
Solution: _

 
Gender Job: E No job: V summation 

Boy : B 460 40 500 

Girl : G 140 260 400 

Summation 600 300 900 

 

1. P(E) =  

2. P(B) =  

3. P(V) =  

4. P(E) =  

5. P(G and V) =  

6. P(B or E) =  

7. P(B/V) =  

8. P(G/E) =  

9. P(E/G) =  

10.P(V/B) =  
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Problem set (3) 
 

1. Give an example for: 
a. Joint and disjoint events. 
b. Dependent and independent events. 
 

2. In how many ways someone can answer five questions from eight questions? 
 

3. Let S = {1,2,3,4,5} be a set of five numbers. In how many ways someone 
can create a number that consist from three digits such that: 
a. The number is even. 
b. The number is odd. 

 
4. In a classroom, someone wants to select a student from 100 students as 

described in the following table. Find the following: 
 

 Use a drag Does not use a drag 

Sick 20 15 

Non-Sick 25 40 

a) P(sick) 

b) P(Does not use a drag) 

c) P(Non-sick AND use a drag) 

d) P(Sick OR Use a drag) 

e) P(sick AND does not use a drag) 

f) P(Non-sick / Use a drag) 

g) P(Does not use a drag /Sick) 

h) P(sick / Use a drag) 

i) P(Non-sick OR Does not use a drag) 


